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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct:
filk that circle in front of that question number. Use marker or pen to filt the circles. Cutting or filling two or more circles
will resuit in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
Vs 21 b’ﬁﬁf s ot S b6 5}:;»‘5@_.’! 1
Zero Equal Non-collinear Collinear | Points lying on the same line are called:
/ = 74
2 % 3 % “r'% =372 hasorder - onf /3 = 3/’3 2
(a-b) a*-b* (a+b)® a' +b’ (a-b) (@’ +ab+b*)=7| 3
{x+3) (x" - x40 (x=3) (X7 +3x49) [(x+9) (x-9) (x-3)(«*+1x+9) | Factorization of xa +27 is & d}é‘.b{ x3 +271 4
0 3 1 -?.t'ﬂgj)b/;?;/_‘ff'j.uu.{ 5
A linear polynomiai is of degree =
.I <
6 qr 15 pars S kEBpar« 15grs| 6
H.C.F. of 6 pgr, 15 grs is:
el e il s U -93/6.-@ <erlk] 7
equal to tess than or tessthan | The symbol < stands for;
equal to
|—""' X|
(+13) (-3} (0} . i =3 | e
Solution of x| =3 is:
’ 2 3 4 - bron b’.:,!sL.qﬁ_,C;:"'_@ 9
A linear equation in one variable is of degree:
Lo S¥ X7 +1=
(0) {13 (1) 11y ] i b
x*+2x+1=0 has the solution:
f . i i —i ; -
A. +B.‘ (qu). jijB,f B{A (Al'}) - A.“: J}.J{’ 11
In matrices (AB) =?
A 1 4 2 12
g;!i' } | ?_K i 5 4 /f?
6 5 4 2 3
4 2]
}ff A= L then iA‘ =
L5 4] '
A5 2546 29125 oiliosle e bW 180° e 90° us 2 | 13
Straight angle | Right angle | Obtuse angle | Acute angle [An angle more than 90" and less than 1807 is calied:
i ; 5 1 s dveatid Sustes 2 el | 14
The number of medians in a triangle is;
e a = Vool K o o
e vf\\'.ir(?}{-‘.'—b){-\'-.-c_‘; +b+c A= _____ u:'b‘L:«(b .ﬁ.c....-.—h.-nlf'o'r 15
> (s-a) (Sb) (S)| T
Hero's formula for a triangle is A= ...
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Answer briefly any SIX parts from the followings:- 6x2=12 _q&fabbr/‘?df_i}.‘! = ch_ 9 u.,fj Lo .2

if P(y)=3y" +f1v-+9 . Then find P(0)
(642 )(s-5)

Define Remainder Theorem? ‘.‘2,“;4,?7‘,(&;,1? {v)

Simplify 4 (i

Factorize 8x° —y°

Find H.C.F by factorization. 14a’bc , 21ab®
Define LC.M ?

Find L.C.M by factorization 3a*b’¢’ | 5a°b%c*

Define Surd?

Factorize

&b P(0) 7x P(y)=3y° "‘"‘%9 A0

-ZE @ i Gi)
“EE YA iv)
287 i)

14a’be , 21ab® _ySpb e g 5L 67 i)

b

36d° -1

8x* - y*

ik PSP il (iii)

3a'h’c’ , 5a’hc’ i Lo MBS $F (i)

Answer briefly any SIX parts from the followings:- 6x2=12 /2 feiin ZLi21 4 = et bstn 3

3{x43)=14+x _‘,_Z/LP (i)
Lt S it P sl B (i)

GSAE X -9 i

Salve

Define Quadratic Equation.
. 2

Factorize: X~ ~9

Define Skew Symmetric Matrix.

234" o 1 5
A=i{1 5 5| B=|2 3 6
[f %uf

4 9 3 I 4 -2

then find 3A - 4B.

[T 3 _.
i A TLM 9f- then find i"f‘ , adjoint of A.

Answer briefly any SIX parts from the followings:-
Find the value of ' X' in given right Triangle.

Sove: X7 S 5-2x _ s/ Pfeni-4 ()

Solve: [3x+4{ =9 ~JAF i)

Solve by Factorization- 5x = x* -+6 ISt v

B SE vy

( 2 3 ﬂ (ili)
! L3 5!./;1

1 & =3 14 9 3]

3A-4B =7

s

0 1 5

i

L‘_BTz 3 6| 4=

LT 3 i
- e ¥ e ; i (Ix}
LA A TR L 4 5s4 [14 9}”

6x2=12 Sy fel2 LR g o $e LSt 4

ST d S el A F S )

LS (i)

Define the orthocenter of the Triangle.

Define Vertical angles.

Define the circumn center of the Triangle.

The diagona! of a square is 14cm. Find its area.
Define Concentric Circles.

Define Collinear Points.

Find the distance between the points (-1 . 3) and (-2, -1)

1024 - 1020 - 18000

S PN (i)
- Pl sk (iv)
Pt L sk ()
SE e URET145KE, i)
Z e B S0 LA (i)

Define right angle.

Ol A L6 4 (i)

LA K (2, ) (1, 3)5E (ix)
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Note: Attempt any three questions. Each Question carries 08 marks

if X =2+3 Then find The value of the following Je X =243 ji0Ls
: —-] =2 - 2-? ]- L= 7 - g 1/ =7 . — l =7 .

iy # /x: Tt A’ ' A LEET WY /c " ()

Factorize 64x" —xa® 64x” —xd® -Z5SF ()
Find the required polynomial _u_’.f"r'}’” \?J,EJ:#-‘ Cre

A=x'=5x-14 , H=x-7 , L=x"=10x"+11x+70 B=7?

Solve: 3{(x+5)>2(x+2) +8 3(x4+5)>2(x+2) + 8 sl G

Solve the Equation by Completing square method. S e 3P 2 s Ot
x2+6x-3=0 x’+6x-3=0

Construct a triangle ABC with base length 5 Cm and the angles UL Jint w45 ﬁf"u}_ﬁ KU ek ABC & (&)

at both ends of the base are 45° and 6(0° U 607 4 45° g_,_{.ebﬁ'd,t.)i!!}f. s

[’1 s]rb“ 35 P L s (b 35 -
l = Then find the values of "a" and "b" _é(#’w'-mea?ﬂ L3 all = 10 /i 0)-8

13 ajj7] [10] |7
Use The Cramer's Rule to solve the simultaneous equation s Sl A bl gL ()
2x+y=1 2x+y =1
Sx+3y=2 Sx+3y=2
The sides of a triangle are 15cm , 36cm and 39cm SR ET 15 F 36 UL Lt L ads L 0).9
Show that it is a rightangle triangle i Bl P 286 L SEE bt K S 30
Show that the points A(5.4) , B(4,-3), C(-2.5) are D(1,1) 49 C(-2.5)« B(4,-3) < A(5,4) k5. otk ()
equidistant from point D(1,1) VR el

1024 -1020- 18000
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Note:- You have four choices for each objective 1
fill that circle in front of that question number.
will result in zero mark in that question.
sides of the Answer Sheet and fill

bubbles accordin

Use of ink remover or white corracting fluid is not allowed.

ype question as A, B, C and D. The choice which you think is correct;
Use marker or pen to fill the circles. Cutting or filling two or more circles
Write PAPER CODE, which is printed on this question paper, on the both
gly, otherwise the student will be rasponsible for the situation.

(D) (C) (B) {(A) QUESTIONS Q-1
4 T L‘:f,&yf fu{.--')s’: =
270° 360° g0° 180 y ) ,
The Sum of the angles of a triangle is
" . & T L}x)fﬂJuﬁ&-sufw..g 2
1
The number of medians in a triangle is
i 5 6 - el | 3
0.0 (.0 0 The Co-ordinates of the origin are:
a’+b* a —b° (a4 h)’ (a—b)’ (a--b)(@* +ab+b*) =7 4
(a-b)’ a b (a+by a’ +b° a*-3ab(a-b)-b* =71 5
Can(ciay®) | enatmayty 1 et -»)e*a3") | Factorization of x° '—}"3 is. < U/){L; x* '}"3 6
] e (x—a) & #e n21 ¥ P(x) 3.2_0] 7
3 L iy : ., 25
: 1 i Jt nedd P@)i-« A S fla o/~
. ok
g § — Remainder ™ | T @ Polynomiai P(x)of c'hagns'eI nxlis
divided by a polynomial X —a' where a is
any. Constant , then P(a) is
3 2 1 0 “-E&)&L/(PVEJWHJ 8
The numberof methods to find L.C.M are
{5,3) 5,3} 5,3} {5.-3) [Solutionof erl|=4 is _eox Py Ix—1=4] o
{26} {25 {24) 6} Solution of Vx~1=5is c.erf§/x 1=5 | 10
~ ambetlelngs | 11
1 ER T
# ° —— A quadratic equation has a degree:
i 3 Ir __“3 3 P } 2 — o=
{0,_} 10,__‘} {il i e tr f¥ 237 3x =0 12
2] 2 2] Solution of 2x? ~3x =0 is
g ¢ G 2, e QT IS S s | 13
Determinant Columns Rows Order The number of rows and Columns in a matrix
determins its:
IS, ey O 1 et A A =— A4 J1] 14
Square Matrix | Transpose | Skew-Symmetric| Symmetric |1f 4' =— A then A s called:
Matrix Matrix Matrix
¥ D o p_— byt K lid | 15
2 Area of a Semi-Circle is:

1025-1020- 22000
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Answer briefly any SIX parts from the followings:- 6x2=12 -L{)}fagmﬁﬁm £ .:.-J:f::. o Jjﬁ Ly -2
i P(x) = 2x° +2x° +x-1 then find f(-2) g p# P(-2) I P(x)=2x* +2x7 +x-1 S
Define rationalizing factor. i“ﬁf.:u_@/‘“’u/;},*;z gt (i)

Define linear polynomials &= J/d/ JI, dbf_,z} <& (iv)  Simplify expression (7 + \E ) (5 +- ﬁ) _Q‘/C—fi (iii)
Factorize 27x* +1 _‘éjf {vi} Factorize k* -8t g_i'df v)
Write the name of method to find HCF qf.’gf:[. uB AL i.fpl*’fyhls {vii)
J2etyte’ 8xyiz® 1252972 e bl SF (i)
& (i) LCMUA 25 (i)

Find HCF by factorization 8xy’z’

Find L.C.M by factorization

2 2 2 2 2 2
x’yz , x)y'z,Xyz x‘yz ,xyz,Xyz

Answer briefly any StX parts from the followings:- 6x2=12 _Vj)}fatwﬁﬁlm Z ;.J)’.:..u! J_i s -3
3x+20 =44 2/ (i) Define linear equation. & _JE_J}'J..—J»»JL‘S
|2x-31=5 /S (i)

Solve:

Solve: |2x-3|=5

Convert into Standard form:. ez SIFY) Solve by Factorization: :é-fd’dy.“g;,'g {iv)
x(2x+7)-3(2x+7) =0 x*—6x+5=0
Define rectangular matrix. _.—_’i J;’Jh.xﬁ' [wi) Define a quadratic equation. ijf:_.fy/‘?JaI:L/&u 3y {vi}
[1 3 4 2 K 1 3], i
if A=), 5| and B:L6 | - then find A+B ZE i A+B I BZL_(] IJ»I A= 4 SJ”
5 49 -3 -2] , g
If B:[---l 4 } then find B’ L B in B L | 4 ],}r )

oxz=12 Sl g e ble ity 4

Answer briefly any SIX parts from the followings:-

& A S (i) Define "Central angle™?  -&& & FE87r @

Define "Reflex angle"?

Define "altitude of triangle’ 25 ¥ P& g (iv) Define Rectangle? ST i)
Draw an equilateral triangle with iength of each side is 6cm -fbf’fﬁ&"/ f e b ts Ly skl (V)
Find The Third Side of a right angle triangle with legs ‘a' C-Lb‘vmi ! a‘b,?:q/r)” éﬂw K_-;M:,sl/"r,fb (vi)

a=5,¢=13,b="7 i.:,,}scm'
=" K& 4’1‘£b?u/(#f(JM| (vii)
e bg/"g( b Jp,ﬂff " {viii)

Find the distance between the given points (2., 1), (-4, 3) 2,1, (4,3 ﬂt_,:/r}”.l-vanéw'éz__: (ix)
1026 -1020- 22000 P.T.O

and 'b' and hypotenuse €. &= 5, ¢=13,b=?
Find the volume of a Cube with Side 4cm

Define " non-collinear” Points?

o
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Note: Attempt any three questions. Each Question carries 08 marks

Find the value of (X — )’)2 : ,,C:*sifpl"_-.é J (x— }‘)2 -5
If x*+y° =86 and Xy =16 xy==16 i x*+y’ =86
Resolve into factors 4x* —5x7y" + y° 4x* -5x°y* +y* S A7 (e
Find H.C.F by factorization x° -8 , x> —~7x+10 X -8, X =Tx 10 sy S sl f 06
Solve x= 15—2& X = 15"2\@ éd” (-..a)
3 ; Xt 4x=1=0 2hx-1=0 S Fe bl =0
Solve by completing the square method: X~ +X X +x WA ;...g)’.._ U/J:. )7
Construct a rectangle with sides 10 ém and 6 cm. un ZET e G 10uedd L £ ;.ﬂ?,.lzJ—’w‘..Q ()
Aisgﬁatz , 3421452,?0)
=l | = . 4 4 o — i A = -8
If 12 1] 3 -1 then find 84 gl B'A G 3 =i 7 11
Solve the following set of equations using the matrix SIS 3P SRS S its ()
inversion method 3x~4y =7, 5x-Ty =12 3x-4y=7, 5x-Ty=12

Find the area of a room 5.49m long and 3.87 m wide. n/'/J! -L{fr}".;'_r_q_ I3 38T nIL549 12 oS4t 0)9

What is the cost of carpeting the room if the rate of K Tg7 b:"ﬁ_l{. ‘;J:Jlé'/-d Cr (3.1;,.!) 10.50 L% &
carpet is Rs 10.50 Per m” ?

Show that the points A (3. 1), B(-2,-3), LIC(2,2)4B(273) , A(3,1)8S 2 =t (L)
and C ( 2, 2 ) are vertices of an isosceles triangle. gL 2 AU

1026 -1020- 22000



